

# RENDICONTI *del* SEMINARIO MATEMATICO *della* UNIVERSITÀ DI PADOVA

R. P. SINGH

## **Operational formulae for Jacobi and other polynomials**

*Rendiconti del Seminario Matematico della Università di Padova*,  
tome 35, n° 2 (1965), p. 237-244

[http://www.numdam.org/item?id=RSMUP\\_1965\\_\\_35\\_2\\_237\\_0](http://www.numdam.org/item?id=RSMUP_1965__35_2_237_0)

© Rendiconti del Seminario Matematico della Università di Padova, 1965, tous droits réservés.

L'accès aux archives de la revue « Rendiconti del Seminario Matematico della Università di Padova » (<http://rendiconti.math.unipd.it/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

*Article numérisé dans le cadre du programme  
Numérisation de documents anciens mathématiques*  
<http://www.numdam.org/>

OPERATIONAL FORMULAE FOR JACOBI  
AND OTHER POLYNOMIALS

*Nota \*) di R. P. SINGH (Bhopal)*

1. INTRODUCTION. — In a recent paper [6] GOULD and HOPPER have given the operational relations

$$(1.1) \quad \mathfrak{D}^n = \sum_{k=0}^n (-1)^{n-k} \binom{n}{k} H_{n-k}^\gamma(x, a, p) D^k,$$

$$(1.2) \quad x^n \mathfrak{D}^n = \prod_{j=0}^{n-1} (xD - p\gamma x^\gamma + \alpha - j),$$

$$(1.3) \quad \mathfrak{D} = D - p\gamma x^{\gamma-1} + \frac{\alpha}{x}, \quad D = \frac{d}{dx},$$

and

$$(1.4) \quad H_n^\gamma(x, \alpha, p) = (-1)^n x^{-\alpha} e^{px^\gamma} D^n (x^\alpha e^{-px^\gamma}).$$

The relation (1.1) is an extension of Burchnall's [1] operational relation for Hermite polynomials

$$(1.5) \quad (D - 2x)^n = \sum_{k=0}^n (-1)^{n-k} \binom{n}{k} H_{n-k}(x) D^k,$$

---

\*) Pervenuta in redazione il 1 settembre 1964  
Indirizzo dell'A.: Dept. of Maths., Motilal Vigyan Mahavidyalaya,  
Bhopal, (M. P.), India.

and Carlitz's [2] formula for Laguerre polynomials

$$(1.6) \quad \prod_{j=1}^n (xD - x + \alpha + j) = n! \sum_{k=0}^n \frac{x^k}{k!} L_{n-k}^{\alpha}(x) D^k.$$

Chatterjea [3, 4, 5] has studied operational relations for generalized Bessel polynomials. His main formula is

$$(1.7) \quad \prod_{j=1}^n \{x^2 D + (a + 2j)x + b\} = \sum_{\gamma=0}^n \binom{n}{\gamma} b^{n-\gamma} x^{2\gamma} y_{n-\gamma}(x, a + 2\gamma + 2, b) \cdot D^\gamma.$$

The object of this paper is to develop certain operational formulae for Jacobi and related polynomials and to study some properties of these polynomials derivable with the help of operational relations.

2. OPERATIONAL FORMULAE. - The Rodrigues' formula for Jacobi polynomials is

$$(2.1) \quad P_n^{(\alpha, \beta)}(x) = \frac{(-1)^n}{2^n n!} (1-x)^{-\alpha} (1+x)^{-\beta} D^n \{(1-x)^{\alpha+n} (1+x)^{\beta+n}\}.$$

If  $f$  is any sufficiently differentiable function of  $x$ , we have

$$\begin{aligned} D^n [(1-x)^{\alpha+n} (1+x)^{\beta+n} \cdot f] &= \\ &= D^{n-1} [(1-x)^{\alpha+n-1} (1+x)^{\beta+n-1} \cdot \\ &\quad \cdot \{(1-x^2)D - (\alpha + \beta + 2n)x + \beta - \alpha\} f], \end{aligned}$$

and repeating the process, we have

$$(2.2) \quad \prod_{j=1}^n \{(1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \cdot f \\ = (1-x)^{-\alpha} (1+x)^{-\beta} D^n [(1-x)^{\alpha+n} (1+x)^{\beta+n} \cdot f].$$

We shall prove here (2.2) by the method of induction. Obviously, for  $n = 1$  the identity (2.2) holds good. Again, replacing  $f$  by

$\{(1 - x^2)D - (\alpha + \beta + 2n + 2)x + \beta - \alpha\} f$  in the above identity, we have

$$\begin{aligned} & \prod_{j=1}^n \{(1 - x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \\ & \quad \cdot \{(1 - x^2)D - (\alpha + \beta + 2n + 2)x + \beta - \alpha\} f \\ & = (1 - x)^{-\alpha}(1 + x)^{-\beta} D^n [(1 - x)^{\alpha+n}(1 + x)^{\beta+n} \\ & \quad \cdot \{(1 - x^2)D - (\alpha + \beta + 2n + 2)x + \beta - \alpha\} f] , \end{aligned}$$

which immediately yields

$$\begin{aligned} & \prod_{j=1}^{n+1} \{(1 - x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \cdot f = \\ & = (1 - x)^{-\alpha}(1 + x)^{-\beta} D^{n+1} [(1 - x)^{\alpha+n+1}(1 + x)^{\beta+n+1} \cdot f] . \end{aligned}$$

Again

$$\begin{aligned} & (1 - x)^{-\alpha}(1 + x)^{-\beta} D^n [(1 - x)^{\alpha+n}(1 + x)^{\beta+n} \cdot f] \\ & = (1 - x)^{-\alpha}(1 + x)^{-\beta} \sum_{k=0}^n \binom{n}{k} D^{n-k} [(1 - x)^{\alpha+n}(1 + x)^{\beta+n}] D^k f \\ & = n! \sum_{k=0}^n \frac{(-2)^{n-k}}{k!} (1 - x^2)^k P_{n-k}^{(\alpha+k, \beta+k)}(x) D^k f . \end{aligned}$$

Therefore, from (2.2), the operational formula for Jacobi polynomial is

$$\begin{aligned} (2.3) \quad & \prod_{j=1}^n \{(1 - x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \\ & = \sum_{k=0}^n \frac{(-2)^{n-k} n!}{k!} (1 - x^2)^k P_{n-k}^{(\alpha+k, \beta+k)}(x) D^k . \end{aligned}$$

In case  $f = 1$ , we have from (2.3)

$$\begin{aligned} (2.4) \quad & \prod_{j=1}^n \{(1 - x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \cdot 1 \\ & = (-2)^n n! P_n^{(\alpha, \beta)}(x) . \end{aligned}$$

For  $\alpha = \beta$ , (2.4) yields

$$(2.5) \quad \prod_{j=1}^n \{(1 - x^2)D - (\alpha + j)x\} \cdot 1 = (-2)^n n! P_n^{(\alpha, \alpha)}(x) \\ = \frac{(-2)^n n!}{(1 + 2\alpha)_n n} (1 + \alpha)_n C_n^{\alpha + \frac{1}{2}}(x),$$

and for  $\alpha = \beta = 0$ , we have

$$(2.6) \quad \prod_{j=1}^n \{(1 - x^2)D - 2jx\} \cdot 1 = (-2)^n n! P_n(x).$$

It may of interest to point out that Burchnell's relation for Hermite polynomials (1.5) is a particular case of (2.3). Indeed, for  $\alpha = \beta = \lambda - \frac{1}{2}$ , we have from (2.3)

$$(2.7) \quad \prod_{j=1}^n \{(1 - x^2)D - (2\lambda - 1 + 2j)x\} \\ = \sum_{k=0}^n \frac{(-2)^{n-k} n! \left(\lambda + k + \frac{1}{2}\right)_{n-k}}{k! (2\lambda + 2k)_{n-k}} (1 - x^2)^k \cdot C_{n-k}^{\lambda + \frac{k}{2}}(x) D^k.$$

Replacing  $x$  by  $x/\sqrt{\lambda}$ , letting  $\lambda \rightarrow \infty$  and using Toscano's [8] relation

$$(2.8) \quad \lim_{\lambda \rightarrow \infty} \lambda^{-\frac{n}{2}} C_n^{\lambda}(x/\sqrt{\lambda}) = \frac{1}{n!} H_n(x),$$

we find that (2.7) ultimately reduces to (1.5).

3. SOME APPLICATIONS OF OPERATIONAL FORMULAE. - Starting with (2.2) or (2.3), we easily obtain the following relations:

$$(3.1) \quad \prod_{j=1}^n \{(1 - x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \cdot x \\ = (-2)^n n! x P_n^{(\alpha, \beta)}(x) + (-2)^{n-1} n! (1 - x^2) P_{n-1}^{(\alpha+1, \beta+1)}(x),$$

$$(3.2) \quad \prod_{j=1}^n \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha \} \cdot (1-x) \\ = (-2)^n n! (1-x) P_n^{(\alpha+1, \beta)}(x),$$

$$(3.3) \quad \prod_{j=1}^n \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha \} \cdot (1+x) \\ = (-2)^n n! (1+x) P_n^{(\alpha, \beta+1)}(x).$$

The relations (2.4) and (3.1) follow the associative law. Now by combining (2.4), (3.1), (3.2) and (3.3) we easily obtain

$$(3.4) \quad 2P_n^{(\alpha, \beta)}(x) = 2P_n^{(\alpha+1, \beta)}(x) - (1-x)P_{n-1}^{(\alpha+1, \beta+1)}(x),$$

$$(3.5) \quad 2P_n^{(\alpha, \beta)}(x) = 2P_n^{(\alpha, \beta+1)}(x) + (1-x)P_{n-1}^{(\alpha+1, \beta+1)}(x),$$

$$(3.6) \quad 2P_n^{(\alpha, \beta)}(x) = (1-x)P_n^{(\alpha+1, \beta)}(x) + (1+x)P_n^{(\alpha, \beta+1)}(x).$$

Again, operating both sides of (2.4) by  $\{(1-x^2)D - (\alpha + \beta)x + \beta - \alpha\}$ , we have

$$(3.7) \quad 2(n+1)P_{n+1}^{(\alpha-1, \beta-1)}(x) = \\ = \{(\alpha + \beta)x - \beta + \alpha\} P_n^{(\alpha, \beta)}(x) - (1-x^2)D P_n^{(\alpha, \beta)}(x).$$

Further

$$\prod_{j=1}^n \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha \} \cdot 1 \\ = \prod_{j=1}^{n-1} \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha \} \\ \cdot \{ -(\alpha + \beta + 2n)x + \beta - \alpha \}.$$

Using (2.3) and (2.4) the above relation finally yields

$$(3.8) \quad 4nP_n^{(\alpha, \beta)}(x) + 2\{(\beta - \alpha) - (\alpha + \beta + 2n)x\} P_{n-1}^{(\alpha, \beta)}(x) \\ + (\alpha + \beta + 2n)(1-x^2)P_{n-2}^{(\alpha+1, \beta+1)}(x) = 0.$$

Next, we observe from (2.4) that

$$(-2)^{n+m}(n+m)! P_{n+m}^{(\alpha, \beta)}(x) \\ = \prod_{j=1}^n \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha \}$$

$$\begin{aligned} & \cdot \prod_{k=1}^m \{ (1-x^2)D - (\alpha + \beta + 2n + 2k)x + \beta - \alpha \} \cdot 1 \\ &= (-2)^m m! \prod_{j=1}^n \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta + \alpha \} \cdot P_m^{(\alpha+n, \beta+n)}(x) \\ &= \sum_{k=0}^n \frac{n! m!}{k!} (-2)^{n+m-k} (1-x^2)^k P_{n-k}^{(\alpha+k, \beta+k)}(x) D^k P_m^{(\alpha+n, \beta+n)}(x). \end{aligned}$$

Again, since [7]

$$D^k P_n^{(\alpha, \beta)}(x) = 2^{-k} (1 + \alpha + \beta + n)_k P_{n-k}^{(\alpha+k, \beta+k)}(x),$$

therefore we obtain

$$\begin{aligned} (3.9) \quad P_{n+m}^{(\alpha, \beta)}(x) &= \frac{n! m!}{(n+m)!} \sum_{k=0}^n \frac{(-1)^k (1-x^2)^k}{k! 2^{2k}} (\alpha + \beta \\ &+ 2n + m + 1)_k \cdot P_{n-k}^{(\alpha+k, \beta+k)}(x) P_{m-k}^{(\alpha+n+k, \beta+n+k)}(x). \end{aligned}$$

In particular case when  $n = 1, m > 1$ , we finally obtain from (3.9)

$$\begin{aligned} (3.10) \quad (1-x^2)D^2y + [\beta - \alpha - (\alpha + \beta + 2)x]Dy + \\ + (m+1)(\alpha + \beta + m + 2)y = 0, \end{aligned}$$

where  $y = P_{m+1}^{(\alpha, \beta)}(x)$ , which is the differential equation for Jacobi polynomials.

4. SOME SPECIAL CASES. - In relation (2.2), replacing  $f$  by  $e^{-x}$ , we have

$$\begin{aligned} & \prod_{j=1}^n \{ (1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha \} \cdot e^{-x} \\ &= (1-x)^{-\alpha} (1+x)^{-\beta} D^n [(1-x)^{\alpha+n} (1+x)^{\beta+n} e^{-x}] \\ &= (1-x)^{-\beta} (1+x)^{-\beta} \cdot e \cdot \sum_{k=0}^n \binom{n}{k} D^k (1-x)^{\alpha+n} D^{n-k} \{ (1+x)^{\beta+n} e^{-1-x} \}. \end{aligned}$$

since

$$L_n^\alpha(x) = \frac{x^{-\alpha} e^x}{n!} D^n [x^{\alpha+n} e^{-x}],$$

where  $L_n^\alpha(x)$  are laguerre polynomials, we have therefore

$$(4.1) \quad \prod_{j=1}^n \{(1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \cdot e^{-x} \\ = \sum_{k=0}^n n! (-1)^k \binom{\alpha + n}{k} (1-x)^{n-k} (1+x)^k e^{-x} L_{n-k}^{\beta+k}(1+x).$$

Also we have

$$(4.2) \quad \prod_{j=1}^n \{(1-x^2)D - (\alpha + \beta + 2j)x + \beta - \alpha\} \cdot e^{-x} \\ = \sum_{k=0}^n (-2)^n \frac{n!}{k!} \left(\frac{1-x^2}{2}\right)^k e^{-x} P_{n-k}^{(\alpha+k, \beta+k)}(x).$$

On equating (4.1) and (4.2) ,we have the identity

$$(4.3) \quad \sum_{k=0}^n (-1)^k \binom{\alpha + n}{k} (1-x)^{n-k} (1+x)^k L_{n-k}^{\beta+k}(x) \\ = \sum_{k=0}^n \frac{(-2)^n}{k!} \left(\frac{1-x^2}{2}\right)^k P_{n-k}^{(\alpha+k, \beta+k)}(x).$$

I wish to record my sincere thanks to Dr. K. N. Srivastava for his kind help and guidance during the preparation of this note.

REFERENCES

[1] BURCHNALL J.L.: *A note on polynomials of Hermite*, Quar. Jour. Math. (Oxford), Vol. 12, 1941, pp. 9-11.  
 [2] CARLITZ L.: *A note on Laguerre polynomials*, Michigan Math. Jour. Vol. 7, 1960, pp. 219-223.  
 [3] CHATTERJEA S. K.: *Operational formula for certain classical polynomials - I*. Quar. Jour. Math. (Oxford), Second Series, Vol. 14, No. 56, 1963, pp. 241-246.  
 [4] CHATTERJEA S. K.: *Operational formula for certain classical polynomials - II*. Red. Sem. Math. Univ. Padova, Vol. 33, 1963, pp. 163-169.



- [5] CHATTERJEA S. K.: *Operational formula for certain classical polynomials* - III. Red. Sem. Math. Univ. Padova, Vol. 33, 1963, pp. 271-277.
- [6] GOULD H. W. and HOPPER A. T.: *Operational formulas connected with two generalizations of Hermite polynomials*. Duke Jour. Math., Vol. 29, No. 1, 1962, pp. 51-64.
- [7] RAINVILLE E. D.: *Special Functions*. Mac. Co. New York, 1960, pp. 263.
- [8] TOSCANO L.: *Formule d'addition des polynomes ultraspheriques par rapport au parametre*. Publikacije Elektrotehnickog Fakulteta, Belgrad Series, No. 98, 1963, pp. 4-8.